Footrest and Hardware (CRFTFR)

Whem choosing Footrests for Tapered and Non-Tapered Frames, Please use the Footplate Kit Reference
Chart when making your selections.

_____________________ On Center Dim.
(See Chart)

SCM_062A



Footrest and Hardware (CRFTFR)

Whem choosing Footrests for Tapered and Non-Tapered Frames, Please use the Footplate Kit Reference
Chart when making your selections.

Refer to Iltem #1 Footrest Kit Reference Chart when Selecting for Tapered and Non-Tapered Frames

Item
Number

Note

Part Number

Description

Quantity Per

Package

Assembly

[

P OO~ WNPRPEPOUUODMWNPOORDMWNPOORMWDNMPOOODMWDNEPOOOGODAWNEOOOGRAMWNDNLPRE

See Chart
1172746

1172747

1172748

1172749

1172750

1172751

1172752

1172753

Footrest Kit Reference Chart (CRFTFR)

Kit, Footrest (13" W)

Tube, Footrest (13" W)

Spacer, Footrest

Screw, Socket Head, Cap (M5 x .
Nut, Lock (M5 x .8)

Washer, Locking Split (#10)

Kit, Footrest (14" W)

Tube, Footrest (14" W)

Spacer, Footrest

Screw, Socket Head, Cap (M5 x .
Nut, Lock (M5 x .8)

Washer, Locking Split (#10)

Kit, Footrest (15" W)

Tube, Footrest (15" W)

Spacer, Footrest

Screw, Socket Head, Cap (M5 x .
Nut, Lock (M5 x .8)

Washer, Locking Split (#10)

Kit, Footrest (16" W)

Tube, Footrest (16" W)

Spacer, Footrest

Screw, Socket Head, Cap (M5 x .
Nut, Lock (M5 x .8)

Washer, Locking Split (#10)

Kit, Footrest (17" W)

Tube, Footrest (17" W)

Spacer, Footrest

Screw, Socket Head, Cap (M5 x .
Nut, Lock (M5 x .8)

Washer, Locking Split (#10)

Kit, Footrest (18" W)

Tube, Footrest (18" W)

Spacer, Footrest

Screw, Socket Head, Cap (M5 x .
Nut, Lock (M5 x .8)

Washer, Locking Split (#10)

Kit, Footrest (19" W)

Tube, Footrest (19" W)

Spacer, Footrest

Screw, Socket Head, Cap (M5 x .
Nut, Lock (M5 x .8)

Washer, Locking Split (#10)

Kit, Footrest (20" W)

8 x 30mm)

8 x 30mm)

8 x 30mm)

8 x 30mm)

8 x 30mm)

8 x 30mm)

8 x 30mm)

1

PR RPRRPRRPRPRPRRPRPRPRRPRPRRPRPRPRPRRPRPRPRRPRPRRPRRPRRPRPRPRPRRPRPRRPRPRRPRREPRRLRRERLR

1

P NDNNNPERPNNMNNNMNNPEPRPRPNNNMNNNPEPPRPNMNNNNNMNEPERPNNNMNNNPEPRPNNMNNNMNNPEPRERPDNDMNNNDNDPREPRE




Footrest and Hardware (CRFTFR)

Whem choosing Footrests for Tapered and Non-Tapered Frames, Please use the Footplate Kit Reference
Chart when making your selections.

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly

2 Tube, Footrest (20" W) 1 1
3 Spacer, Footrest 1 2
4 Screw, Socket Head, Cap (M5 x .8 x 30mm) 1 2
5 Nut, Lock (M5 x .8) 1 2
6 Washer, Locking Split (#10) 1 2

NOTE: A -Kitincludes items 2 - 6.

Item #1 Footrest Kit Reference Chart (CRFTFR)

Foovest | Fooeel
Non-Tapered |Tapered Frame O_n-Cen_ter Dimension _ _
Frame 75 Degree Dimension (See Plastic Footrest|Plastic Footrest
75 and 85 Tapered (See_ lllustration) Cover Cover
Degree 85 Degree lllustration) Non-Tapered Tapered
75, 85 Degree
Angle Tapered 75 and 85 Angle
Degree Angle Tapered
Chair Width | Part Number | Part Number Dimension Dimension Part Number | Part Number
(Inches) (Inches)
13"W 1172746 N/A 11-7/8" N/A 1179175 N/A
14" W 1172747 N/A 12-7/8" N/A 1179176 N/A
15" W 1172748 N/A 13-7/8" N/A 1179177 N/A
16" W 1172749 1172747 14-7/8" 12-7/8" 1179178 1179176
17w 1172750 1172748 15-7/8" 13-7/8" 1179179 1179177
18" W 1172751 1172749 16-7/8" 14-7/8" 1179180 1179178
19" W 1172752 N/A 17-7/8" N/A 1179181 N/A
20" W 1172753 N/A 18-7/8" N/A 1179182 N/A




